RE 3 R . '
BEP 2018—2019 FERE - FHE—FHERER
S—HFENE
2019. 04

iy ¢ 3iF .

H
L ARBHE | BNE IEFRS. B 1 B9REE, 604 BUENELE, %o
5, WA 150 4, ERETEN 120 406h. |
2. BIBH 2T, BMEA—AERES, WRENNERES (A B. C. D) BEEE
. BIBHK 2T, HERFRALTE (0.5m) SESEEL,

B 1 &

—. BIREIRE (3£604)
1. SE2HT{a,} M nTRS,, £a,=2,5=12, la,= (- )
A8 B10 Cl12 D14

2. ®a, bER, FAIRERP--EHITHE ()
A. a*+3>2a B. a*b*0 C. a’+b’=a’b+ab’ D. at+=2

3. £HL LA LRREESL LEFH oW, LEFES K, I RFE o 5788 #igs, i T
MEERHR ()
A IEDS L, [Pl — R . Bk L, LR

C.IZZS 1, LPR—FKHBX D. /15 1, L#ZHA




4, A—MEATHERE QP ERRA BEE BAKMEE L. 'FEEE‘JE?Z.&ﬁh 16, MR

BBRKR Sen, WHEEHBRER ()

A. 9cem B. 10cm C. 12cm n., iG5cm

05 %a bER, B at|561<0, EUTEHT%EUFIEEFEW%( )

A. a— b0 B. &-+5>0 c. &—#£<0 D. a+ &0

| ) 5% 1 mo ¢ )
6. Eam¥F] {a) BREELS, S, AEH n TM %_s;“é’ . 5, |
1 3 5 7

A s B. C- 1 .

7. BEH F(2) == A+ x+2a(2>0) = £(m) <0, T )

A, f(m+1) =0 B. f(m+1) <0 C.f(m+1)>0 s D.£(m+1)<0

5. tum, ETAMAERHE: A B%Efﬁtmvﬂm@ e N QRFERKTR, WEKTAE

| | .
9. HF (s}, DENIER nEN, 31+32+&+ +a,=2"—1, ﬁﬂl&+&+&+ et 2ET( ”)

B

. - l_l.,” ‘: - 1 t“‘:' R o y : ,, u."““ 5_1 ‘ - e
A@=DMF T Bo(E-2) C. .2 (9=1) -(4“ )

(0. HHHOS WINEATRREATABER-AREL, NERBEEH ()

V2 4
A m B.— ™ C.E'!t | D'zi—?"-"-'

F-gaRE M2 W ORAN



1. & RNFAL ¥+ ar+ 120 50— ..rE(O. % EE‘IJL N a B/ MEL A ( )
A. O B, —92 C, —= . D. —3
L'..}\ E.J. 'HJ;&Q}-U {at'ﬁl ngi@fﬂﬁﬁ- ﬂ'ﬁﬁ Il lﬁfﬂj‘]sn y EllB"":;-?ar‘ 3.!3'_‘4! ﬁﬂ. 12 mﬁi&ﬁn%ﬁﬁ&l’r A&% 11

M KR ET, WSyy= ()

A. 966 B. 978 C. 1024 “D. 1280

S-S
= HRE (#204)

3. ER Al (4%%5&%. PR

14. %)Z ﬁ'Pl"‘P;"‘ +puyj Il %Eﬁ' Pi» P2y, °°*, E‘j “ﬁ:]@.,ﬁ” %ﬁﬂ{&n}ﬁﬂﬁﬂ n*ﬁﬁq "ﬁ

.‘.!n-H

15, TENE® ABChF, E, Foralk AB, CDiyh . £ B, ACFTISRI i 60° EBD-?-AC'——L'L- W EF

17. OlRa? + b252(2a —b) - S8 KN,
@4 a,b,CE(0,+W).ﬂa+b+C'= 1K E -
8. Emgrgsiatmprd>o t&{"n}mtrnlmws%, =1

AR B3R Kiw



19 EA

(1) sy, b/ BFGH: CD7/ 7/ EFGH:
(2) 2 ap=6, (D=8, KWL EFGH A R BRE TG .

0. SR, RASOANTIRE AL AO=1, SO=VIS, ML= A4 SO W —RARME, A
g SAt—5 BSH=x MR Mm—mé%, BB S 4T R B0 A A,

(1) REBEHETR: (2) RAFHBERENTS £ (0, 3R £ (0 KB,

2 WRT  WRSRkx? - 2x + k > 0(k'ER)

2. CRal REZYT, (b) RBUKF, a=1, h=2, h=2a h=2a+2

(DR {2, () Mg A 5, (27¥{ﬁ}ﬁﬂﬂﬁ AT S RAE: S<2.

S—WeR W4 W 4T



	1.1_副本
	1_副本
	2.1_副本
	2_副本

